EAGRAROBREERT — 2 N— ABISH —F

2021518190 () 16mAFH2H

L 7R —M C3AKX

‘ [R1%] & ‘ [REBB] — | & (%) 16000 B

[A&£] 1 7 :800,000  ~ 23&:320,000H 33 :200,000H ~ 43 :120,000 " 5 & :80,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o= . AHIESE 145, -1-1- . — ETEE (IHE)
i 5| PRF -2 B4 e 1(4_5)1 1-1-1-1 | 41.6 2 (5_040) uﬁT% gR
RWN=—5—Yy T BTRAITE21T+1 HE77—»4L
> st 7 | SEHEK 1:45.1 6-6-5-5 |41.1| — 1 463 | FEBLZ (KFH)
2 4| K>3 56.0 (74%) (1) | EHIZE=
LA LINTRY IR BFAFRH7x pnbie
R i 5 | REMEE 1:45.2 8-8-7-6 |41.0| — 7 507 | AREEZ (K¥#)
37|12l E2T7UZR 54.0 (1/2) o |B8%F
L4 RT—IEY BT RUZ2 HET7—L
o SN A PEATIE : —12-11- - MBI (KFH)
alslg |-~y i o4 5 (17.4753) 12-12-11-10{ 40.3 4 (5_131) i
Rib—trya—4> B:75>9—0 BEZX 2 Y K
. . s B 145, -14-14- . - BAME (/)
"R FHRRTLISN— 4 4 L 1(435)8 14-14-14-13] 40.7 12 (4_150) E?JEE%: /N
L:7—IRI-ZX B:77%XJV-2X HEAHTT =L
o 4 5 46 | HEEHE— 1:45.8 4-5-4-3 | 42.0| — 5 484 | FEAE (KH)
6 6| /N7 RTrAT -2 56.0 (74%) (o) | MEBEF
L2947 hHLE b B:OT-Y FE B 45055
— s “ 4t g | BEEX 1:46.1 2-2-2-2 | 42.6| — 9 454 | EEFE (HE)
7 10 F—Xbpr¥ VRA 56.0 (11/2) +1) IR
L:ARYSFRYT—/ BTIVERZR TV KT 7 =L
= Bo7 | EBEX 1:46.1 13-13-13-14| 41.0 | — 10 | 446 |EER (KH)
8|1|1|FTLATAT 54.0 (75 (o) | B 7P=ZrEVa
L:nN40 B:ovTaH7 EIEsgae]
S = # 8 | BIIEESY 1:46.1 5-4-6-7 |42.0| — | 8 | 500 |=EEE (KH)
EE 2| BV —tT 1 54.0 (74%) © gcg%z
R Z2ZXHw R B:d—-IWVRT1X4H 752 Kiis
= . i 8 | ABEX 1:46.4 3-3-3-4 |42.8| — 14 | 468 |BRA—R (K¥#)
108|183 Y77 1L 54.0 (1 1/2) (+14) | D
RiALNTYFIE B:TTRU—L4 RES
#1138 146. -10-8- . - HiZEZ (KH)
Hlsl7|7z79z0%y it 4 o (171274) 11-10-8-8 | 41.8 3 igt; ﬂmg_
R:JG4 7 T—IWEY B:7—"TzA HET7—L
= [iNp ] : -9—12- — SATR (KH)
12 3| ¥V 7R T4 T LI ok 1(;?:;5 8-9-12-12 | 41.6 6 ::355) LIS
LY LSAN—F B:ax/3—HLy bk 777 BEsS
D NETYES 4 4 | FIEEA 1:46.5 10-11-10-11| 41.9 | — 11 507 | FLEBLZ (KFH)
13/ 814 I\_t/U\T/[\ 56.0 = (7 ) +3) *XESE
Lih=t2TI4 0 Bib—t2RxyY BREHM IXT177—L4
S, S8 AE0 EHE 146. —7-8— . = EEBRIR (KFH)
1l 9| 71> ANXF R 1(14/62)6 6789 | 423 *° (4_326) ZHREE
R:xg—YriO-—x B:T7Y1 K FE Ak
® 1 —F—@EBIERL
1T=7r= 5,10,13,6,2,(4,9),(3,12) ,14,7,8,1,11
2a=5F= 5,10,13,2,6,4,9,12,3,7,14,8,1,11
Ja=9= 5,10,13,6,4,2,12,(7,9) ,14,8,3,1,11
43—+ — 5,10,6,13,4,12,2,7,9,8,14,3,11,1
[ /N
B 5 400 714K 4-5 290M e E 3-4 390M9 JEE 4-5-12 2,760
B B 5 1604 5-12 970 e B 4-3 740 3B 5-4-12 10,780H
4 120 4-12 530M B & 4-5 590M
12 310H B H 5-4 1,320

ARICOVWTRDTEEERROODE. TR LI,




